
APPENDIX F

LIST OF SPELLING MISTAKES/ERRATA IN STD.V TEXTBOOK

CHAPTER PAGE INCORRECT CORRECT

t. 7 it 1000 - 70000

2. ennumeratian

3. natural 

3 e::it

4. end l eesness
4. asscclate(20th line)
5. follcwirg

11. zero as a neutral 

number tor addition

12. propevty

18. 586949

805031

22. 900.584

23.

7 >! 10,000 = 70,000

enumeration

natural

exist
end less
associate
fol lowing
zero - a neutral

number for addition

property

5,86,949

8,05,031

9,00,384

(LC.M) of- two (or more) (LCM) of two or more

6 7 8
35. 6 = 7= 0= ~

1 1 8

43. sumholic14th (line)

47. 0.35+0,24 = 0.59 or
+ 0.72 
0.24
0.59

6 7
6~ 7 «= 8

1 1 
symbolic

0.35+0.24 = 0.59 or 
0.35 
0.24
0.59

8

1

35. cecimal6 decimat



CHAPTER PAGE INCORRECT
6 56 312 X 3 = 936

57 <6.750 X 4) km 
= 27.00 km

68 <24.8 - 3.1 ) •-1
7 72 Gramme

78 dracrecases
25 man

8 85 per cent
93 br l rtgs

9 103 Aree
103 25/100 -■= 0.15

104 r ecatngulare
109 carpstted

1 lO parametre

12 133 one
135 Exercise 10

13 139 Fxercise 12.1

140 Exercise 12.2
141 Exercise 12.3

142 Exercise 12.4

CORRECT
Glues, is to -find the 
product 3.12 X 3

<6.750 X 4) km 
- 27.000 km
<24.8 - 3.1> X 1.25
Brant or Crams

decreases

25 men

percent
brings
Area

metres 25/100=0.25 metres

rectangular 

carpeted 

perimetre 

one
Exercise 12 

Exercise 13.1 
Exercise 13.2 

Exercise 13.3 

Exercise 13.4


